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3 (Sem-1) GGY HG/RC-1

General Instructions :

(A) Honours Generic :

Answer the questions from either GGY-HG-
1016 or GGY-HG-1026 or GGY-HG-1036.

(B) For Regular Course :

Answer the questions from GGY HG-1016/
GGY-RC-1016.

g 2019
- GEOGRAPHY
(Honburé Generic)
Paper : GGY-HG-1016/GGY-RC-1016
Full Marks — 80
Time — Three‘ hours

Th° figures in the margin indicate full marks
- for the questions.

Answer either in English or in Assamese.
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PART - A
(Physical Geography)
(o sratte)

1. Select the' correct answer : 1x7=7

g Telcol e Sferear ¢

(a) Which one of the following is not a branch
of physical geography ?

e @Rt Ry -agfos SR
w2y ?

(i) Soil geography (Jfe wrane)

(ii) Agricultural geography (F¥ grsie)
(iii) Oceanography (& $UsileT)

(iv) Climatology (SR BUsil)

(b) The proportion of oxygen present in the
atmosphere 1is

ma@wwﬁmmaoﬁmwmm
EG|

(1) 78.08% (av.ov%)
(i) 70.94 % (q0.58%)
(iii) 20.94% (R0.58%)
(iv) 10.94% (50.58%)
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(c) The supercontinent or the unified landmass
that existed approximately 335 million years
ago, as suggested by Alfred Wegener, is
known as

AT @AKol SR 2l woe Fye
TR d I A WfFFe FETolhnR AN A

(i) Lauratia (s

(i) Pangaea (&) -

(iii) Panthalasa (sfrgr=T))

(iv) Angra land (SRIRIGAE) |

(d) Which one of the following is not a
mechanism of heat transfer in the atmos-

phere ?

ﬁm@mmmmﬁmm
=

(i) Radiation (RRs=e)

(ii) Convection (+{R5=¥)
(iii) Fric.tion ()

(iv) Conduction (R |
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(e) The Inter Tropical Convergence Zone or
Doldrum, characterised by windless weather,
is found in

ISIZ ¥ WW2 I SfSHR I A =0T I
(THAGN) IS (AR T ?

(i) Equatorial low pressure belt

AP {% vl 3=

(ii) Sub-tropical high pressure belt
TAFIIA T BI9t I

(iii) Sub-polar low pressure belt

SoArTIE WY Blie I9™

(iv) Polar high pressure belt
(TP T Biel I

(H What does BWh stand for, as per Koppen’s
classification of climate ?

@R TEREE IFt Reiom sw@@l BWh
e T e

(i) Tropical rain forest clirﬁate
e TRy SRy
(i) Hot desert climate
TE T TERY |
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(i11) Humid sub-tropical climate
| oiE SIS EeRTy
(iv) Tundra climate .
oHl GERg |
(g) Hydration is a type of
WHI A 9T PRI
(i) Mechanical weathering
1w RyTfem
(ii) Chemical weathering
IR Rpdle
(iii) Biological weathering
toRke Rpffeww
(iv) Mass Wasting.

BA HAI

9. Write short answers to the following questions :
- 2x4=8

SoR ePHTAR 5 el ot s

- (a) What is diastrophic earth- movement ?
Resfar g-wcwe & 2

14/3 (Sem-1) GGY HG/RC-1 (5) [Turn over



(b) The values of which two elements of climate
were used by Koppen for classification of

climate ?

Wmﬁﬁv@%mﬂmmm
WO Somd W JII IR(E ¢

(c) What is Lapse rate ?
EoeR R 2

(d) What is Dormant Volcano ? .
& AR I QT 2

. Differentiate any three of the following : 5x3=15
s R coien SFoR il @ s

(a) Trade wind and Anti-trade wind
ey ToIR SiF S Afdey IR

(b) Permanent and temporary elements of atmos-
phere | |

IPNGT A WF A AW

(c) Fold and fault
S Wi pie

(d) Evaporatiori and evapo-transpiration

FoATSI W AT
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(e)

N_orth-East monsoon and South-West mon-
soon. ‘

TEI-7[@ GRS =% wiEed- «ifkew GRSl |

4. Answer any three of the following questions :

10x3=30

e e @ @i fsFoR e foxin ¢

()

What is normal cycle of erosion ? Why do .
fluvial cycle of erosion is called normal
cycle of erosion ? Describe the normal cycle
of erosion and resulting landforms ds
propounded by W. M. Davis with relevant

- diagrams. : 1+1+8=10

(b)

(©)

Freifs = &F 2 QTS 2N 7’ @<t
FHET [0 Foiiie Faoer @ =¥ 2 ©FC.
aﬂwmmwmmsﬁﬁw
?I‘ﬁﬂWI

Explaln the internal structure of the earth in
the light of the evidences of the seismologi-
cal waves. | 10

gﬁww‘rﬁawmwwmww
HRATT TEWIF 9o I |

Explain the structure of the atmosphere with
suitable diagram. 10

memmmmaﬁaﬁﬁam
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(d) What is Glacier ? Classify the glaciers.
Describe the erosional landform of glacier.
2+3+5=10 -

Rz @ @IE ¢ R T Res 4|
R wEEEE TRl R @7 TIRAR Il
Al |

(¢) What do you mean by heat balance of the
" earth? Explain the mechanism of heat
balance based on the energy exchanged
between the Sun, the earth surface and
atmosphere. 3+7=10

TR R oy e [ ogE e
Tod WiE IPNOTR Wers A e R
goge fofs IR RN O ST IFI9
ofFar RISt A1

() What is Volcano? How do they erupt ?
Discuss about the "different types of volca-

noes with examples. 2+3+5=10

.me?mﬁw@ﬁiﬁ@
=3 ¢ GuReE  Rfed o] gEigiR [T
ST I |
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PART - B
(In lieu of Practical Paper)
(TRE ot IRl ARICS)

(Hydrosphere)
(SreTaee)

© Answer any fwo questions from Question number 5

to 8.
opy WER 59 id1 8% ouse R @Il §oik Tl A1 -

5.

Describe the bottom configuration of Atlantic
Ocean. Write your answer with relevant map.
7+3=10
WGAST TSR S GSRE I¢fHl 3
At WNbar Tel Rt |

What is ocean current and what are its different
types ? Describe with example the various factors

respon51ble for the occurrence of ocean currents.
3+7=10

T @e & e 23 Ren oaor < ¢ -
@G@aﬁﬁaﬁmquﬂiacﬁtwn__

Dnstmgmsh between any two of the following :
5x2=10

ﬁzﬂwwﬁ_@m@noﬂ@‘mo

(a) Continental shelf and continental slope

TGN SF TRAGIE
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(b) Terrigenous and Pelagic ocean deposits

wors  SRCFA  (GREAED) e ANESES
(coAlfE) SRUS |

(c) Spring tide and neap tide.
D! (GRE S AGH SR

8. Write short notes on any two : 5%x2=10
R it yorR o3 ort - Tt e

(a) Hydrological cycle
GreTb

(b) Economic significance of ocean currents

T @Y SRR S

(c) Sargasso sea.
TRE A
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3 (Sem-1) GGY-HG-2

GEOGRAPHY
(Honours Generic)
. Paper : GGY-HG-1026
Full Marks — 60
Time — Three hours

The figures in the margin indicate full marks
for the questions.

Answer either in Eriglis:h or in Assamese.
TR T S el iRl |

(Disaster Management)

(st o)
1. Answer the following questions : 1x7=T7
©ER e Tl At 3 -

(i) What is hazard ?
Eaﬁ‘rt e o2

(i) What was the magmtude of the great Assam
earthquake of 1950 ?

S5 ¢o BT ST I $IFAT ey R =ifeT 2
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(iii) In which year Tsunami occurred in the
eastern coast of India ?

@ T ©RSA o7 Toigee RR R
[SES i

(iv) Write the full form of NDMA.
NDMAT ofefieal FITHt fevalt |

(v) What is a ‘Richter Scale’ ?
R =z & 2 |

(vi) What is anticyclone ?
SIo gIReR & ¢

(vii)Name a wetland of tectonic origin in Assam.

THIY QU pIvEEe e w9 Qi

2. Answer all the questions : 2x4=8
e ey T 3 ¢ |

(a) Mention two major causes of flood. =

AT YO A IR S FA |

(b) Mention two earthquake belts of the world.

HRTT B! SR TR w9 ot
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(c) Give two examples of man-made disaster.
T8 qraeR w5l SwiRd fra |
(d) Mention two causes of landslide.

e wol Cwrme frm

3. Answer any three of the following questioﬁs:
5x3=15

o] R i fSFot ope o T ¢

(a) Write about the problem of bank erosion of
' the river Brahmaputra.

TG AR SRR AR R o
(b) Describe how cyclone occurs.

1l IO R @IS W I 4|

(c) Discuss briefly the problems created by
drought. .

W@ﬁwwmmﬁml

(d) Write about Tsunami as a natural hazard.
Ao yrala Rewest gt R =

(e) Define the term ‘hazard’ and mention its
~ types.
ey e fi R TR S 1
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4. Answer any three of the following questions :
10x3=30
ey U i oot e e o e

(a) Discuss elaborately the flood problem of
Assam.

SN QA AP AEE IZEe, |

(b) Give an outline of the drought situation in
India. '

ooy 1R <RFEST @t e

.(c) Discuss the earthquake problems in India
from the perspective of Plate Tectonics.
o RIS FRTIR 791 SR 29 AR
Ra ScEpal 40| |

(d) Discuss the importance of traditional
knowledge system in disaster management
with suitable examples. |

Al IR (RIS TR WA w0
TR CHIRACIE SCEIGA 1 |

(¢) What is man-made disaster ? Explain -its
causes and impact with examples. 2+8=10

TR e st & ¢ T|WR IRA WE YR
TwizgeiR. ResEd 34|
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3 (Sem-1) GGY-HG-3

GEOGRAPHY
(Honburs Generic)
Paper : GGY-HG-1036
Full Marks — 80
Time — Three hours

~ The figures in the margin indicate full marks
| for the questions.

Answer either in English or in Assamese.
B! T SRS Ted 1|
(Geography of Tourism)

1. Give the correct answers of the following :
| | 1x10=10
st A R AR Tew ¢
(a) Give an example of ‘Inbound Tourist’.

S AT @it Burd

(b) Write the name of the largest National Park
of Assam.

WW@?WW'W]

(c) What is the full form of MICE ?
MICE=R =9« =eito! & 2
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(d) Which one of the following is an example

of Birds’ Sanctuary ?
TS (FH P TSTRPY G Wﬂ ?

(i) Majuli .
regeT!

(ii) Jatinga
wrifosit
(iii) Namdapha
S v=Fl
(iv) Charaideu
HRIRTS

(¢) Which one of the following is not related

with Pilgrimage Tourism ?
R (IO ‘G"’Ial’/aﬁ“\‘a oﬁfﬁ?ﬁ e wfee

CEuit

(i) Bardoa
Il

(ii) Malini Than
el A

(iii) Dhaleshwari
el

(iv) Guwahati
SIRGT
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®

(2)

(h)

()

0)

‘Social Function’ is an example/not an
example of tourism.

AT SO AT @ BrrRd T/ |

Kakoijana Wildlife Sanctuary is located in
____ district. | |
Fitaa SeTRy —— Gre SRS |

In which of the following States, ‘Victoria
Memorial® is located ?

%@ﬁmmﬁmaﬁw%ﬁ@wm
@ TS SREFS ?

(i) Maharashtra (ii) Delhi

REE faat
(iii) West Bengal (iv) Rajasthan
off¥eaaRa e

What is the full form of IISM ?
[ISM =9 Feito! & 2

Macro-Polo was the Foreign Tourist from—
China/Moroéco/Venice/South Africa.

M-SR /Al /cofE /e S ol

o Roedt =1t wifee |
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2. Answer the following in short : 2x5=10
fAoreT R vy Ol e

(a)

(b)

How does the tourism industry help in human
resource development ? Write briefly.

wwwwmﬁsmmm?
GRS R

Write the names of four famous ‘Hill Stations
of Assam. '

SN GG SraAtalsy oiey #{o FH'I AN

_ﬁi‘ml

(c)

(d)

Write four prin‘ci'pal problems of Assam
Tourism.

o7y of6=] BIRG Y AU SrEd I

Write two positive impacts of ‘Sustainable
Tourism’.

wmamwﬁwmm

-

(e)

Write four famous monuments of India.

SReIEE BRGNSy Wfowel N B
Sl

Write short notes on any four : 5x4=20

vy G ot Rt if<ot

(a)
(b)
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(c) Manas National Park
AR G T

(d) Chapanala falls
Bl S =ilo

(e) Poa Makka
Colll STl

() Jim Corbett National Park.
&N =G G S|

4. Answer any four questions from the following :
. 10x4=40
e S Wed A /@i st e’ T
IGRIE: |
(a) What do you mean by tourism'? Explain the

fundamental parameters of TOUI‘ISI'D. postu-
lated by Robinson.

WW%W?W@WWW
WWWWWWW!

(b) What are the main types of Toilrisrri ? Explain
the possibilities of cultural tourism in North-
East India. '

s Ay aFETR [ & 2 TE3-71 ©IRee
Aegfos AR TSRS Iy |
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(c) What do you mean by ‘Recent Trends of
Tourism® ? Explain the role of Eco-Tourism

in Indian tourism industry.

‘oo Ao 9/’ JEE & 3@ 2SS
oG Brplee 3 A6 SR StETeAl |

(d) What is Sustainable tourism ? Illustrate its
significance. | .
Tz AT 2 TN e PR 4

(€) Explain the impact of tourism in the future’
development of Assam economy.

SR Sy oige Tewie ofeR g
.Wﬂl w7

(© Explain the formation and activities of ITDC.’
ITDCS 67 Sie e St w0
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